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Solve: 

1. ସ௫ା଼
ହ௫ା଼

=
ଷ

଼
 

 
2. ଽ୶

଻ି଺୶
= 15 

 
 

3. ଶି଻୶
ଵିହ௫

=
ଷା଻୶

ସାହ௫
 

 
 

4. 0.16(5𝑥 − 2) = 0.4𝑥 + 7 
 

5. x − 2x + 5 = 3 + x 
 

Form equation and solve: 
6. In a school there are 3600 students, number of boys is twice the number of girls. Find the 

number of girls. 
 

7. The sum of two numbers is 78. Their difference is 18. Find the numbers. 
 

8. A grandfather is ten times older than his granddaughter. He is also 54 years older than her. 
Find their present ages. 

 

9. A steamer goes downstream from Halisahar to Belur in 9 hours. It covers the same distance 
upstream in 10 hours. If the speed of the stream be 1 km/ hr, find the speed of the steamer 
in still water and the distance between the ports. 

 

10. 5 years ago a man was 7 times as old as his son. After 5 years he will be thrice as old as his 
son . Find their present ages. 

 
 

Answers 

 
 

1. 𝑥 = ିଵ଺

ହ
 2. 𝑥 = ିଷହ

ଷଷ
  3. 𝑥 = ଵ

ଶ
  4. 𝑥 = 18.3  5. 𝑥 = −1 

 
 

6. No of girls 1200  7. 48 and 30  8. 6 yrs and 60 years  9. 19 km/hr, 180 km 
 

      10. 40 years, 10 years 
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